Exit Ticket ZZ2 - Probability with Venn Diagrams

Correct Answer: ABCD

Explanation:

The Venn diagram

shows the number of

left-handed students in
a year group (set A) and
the number of | RN A A A L L EE
vegetarians in the same

year group (set B) 115

A student from the year group is chosen at random.

What is the probability that the student is a right-handed | = ciiiiiiiiiiiiiriaiarsasarsasassasasssassnsnssnssnsnnsnssnsnssnsnrsnsnnnns
vegetarian?
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Correct Answer: ABCD

Explanation:

AQAZ Correct Answer: ABCD

Becing pecernis

Explanation:

There are 180 studentsin Year 12 of a school.
Tostudentsstudymaths | maasaeamsssassasssassaasaassaaaaaa e aat st e
93 students study psychology
40 students studyneither | MESEESNISISESANSSNSSnEoLEsLTLTIETnTonTonmsmnamnannaanemaamnawnanees
Work out how many students study both maths and psychology.

You may like to use a Venn diagram to help you.

A B Cc D

168 56 28 140
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